1 EHRVERR AN

BN TAE AT AT

R | BB RO mgeor | O IR | TOERDEMR | L8
(R —1 AT 53857390 (R F-H12— 5 29, 500 29,400 | A 0.3
T () —2 IEE M AOK 11623 1 53, 700 54, 300 1.1
T () —3 B HHT ARG 5 7 4 66, 500 67, 000 0.8
() —4 P 1T A 2 15402520 56, 000 56, 000 0.0
() —5 W T 2332530 85, 000 86, 000 1.2
L () —6 JUSRHTIAF-AE 1890 2 11, 500 11,300 | A 1.7
BT —7 E%Eﬂ 6 1968734 TPHHEE 6 — 10— 71,000 72, 500 2.1
BT —8 }_\%;jﬂ 17 A2655%14 TAEA1 -3 46, 000 46, 500 1.1
LR —9 A FHET 1247214 74, 100 75, 500 1.9
AT (R)  —10 fgj“ﬂdamglgé(s FEJ9AS —14 61, 200 61, 800 1.0
T () —11 7{9{?{?&77‘9 1#& 65 HRIAT -1 80, 000 81, 000 1.3
T (E) —12 k_tﬁjﬁﬁ 3T H25% THHAIL3 —9 50, 800 51, 400 1.2
AT () —13 78 1T 2 L% 3280 % 18 57, 800 58, 400 1.0
T () —14 BRI TT0% 68, 500 69, 300 1.2
T () —15 FH IR R 471916 65, 400 66, 500 1.7
AT () —16 HHEI M 527K 18393 6 4+ 47, 400 47,700 0.6
ir () —17 JHARKE & W L 733347 51,200 51, 400 0.4
T () —18 BROEE BT 1206 % 9 62, 000 62, 800 1.3
L () —19 BB HT 4 0/ 1156397 22, 000 21,900 | A 0.5
Wi (R —20 JE AT R A R K A 1923 10, 700 10, 600 A 0.9
T () —21 JEB BT VBB N - ARl 68 2 18, 200 17,900 | A 1.6
AT () —22 AR KA 15499 11, 500 11, 400 A 0.9
Wi (R —23 J\ BRI B 5 5538 %354+ 9, 400 9, 300 A 11
AT () —24 EARMT N 11453 8 14, 700 14, 500 A 1.4
Wi (/) —25 LRI EHH1732% 3 12, 600 12, 100 A 40
T (R —26 27 B NT 4R T 6657 2 9, 200 9,100 | A 1.1




T () —27 FEORBINT AL 280% 7,650 7,600
T () —28 J\ERTHUS 2013 22,900 22,900
PRI (B —29 J\ZERTRERF746 % 4 4t 10, 700 10, 600
PRI (B —30 J\ZERT H #1567 14 31, 900 32, 300
T () —31 EGHT T 543723 42, 200 42, 900
PRI () —32 FIGHTGHT 171 2 49, 300 49, 900
T (B)  —33 SREMT I A216% 2 15, 900 15, 600
T () —34 SRIENT HUOR9947 24 16, 900 16, 800
PRI () —35 FHHERT H BT R84 3241+ 33, 600 33, 900
AT () —36 FOHZERT HER TR R 4115 1 35, 800 36, 100
Ay () —37 P EEFERT 10372 27, 900 27, 900
AT () —38 HUSERHT83 278 29, 200 29, 000
AT () —39 AR 119% 18, 300 18, 200
TR —40 255J<W‘%’d'3652%32 AN A 50, 000 50, 200
T () —41 EGHTARE513% 11, 200 11, 100
T () 3 —1 FH BT 24863 1 28, 700 29, 200
R () 3 — 2 PR BT Fi1935% 12, 700 12, 800
kAL () 3 —3 EGATERTI97H 1 17, 400 17, 600
() 5 —1 T SHT26% 1 78, 100 78, 500
R () 5 — 2 BmT38% 1 104, 000 105, 000
AL () 5 —3 IEEBNT10% 4 TR ENT15—14] 60, 300 60, 600
R () 5 —4 1 A BT E 48T H 1 THh 108, 000 110, 000
AL (B) 5 —5 2 T H602% [52E 2 —29—10 109, 000 110, 000
AL (W) 5 — 6 ] H BT 4707 1 117, 000 120, 000
L () 5 —7 BT 5 84337 1 109, 000 110, 000
AL (B) 5 —8 PN RT3 73 84, 600 87, 500
AL (W) 5—9 JEE s IT EAR 7\ A FH 2293 3 4+ 25, 600 25, 400
FAVE (B 5 —10 ESARET I 6127 15, 500 15, 300
AL (B) 5 —11 PR BANT L RBE65 1844 21, 800 20, 800
FAVE () 5 —12 EGHRTEHT 7427 5 4+ 56, 300 57, 000




FAir () 5 —13 BTN 26% 28, 300 28,100 | A 0.7
AT () 5 —14 R ERTH R THR - 11205% 1 41, 900 42, 100 0.5
Wi Ry 9—1 J\IENT K 1 41 953% 17 16, 800 17, 600 4.8
Wi (F) 9 —2 JE STy “E D 11601885741 16, 800 16, 600 A 1.2
AT () 9 — 3 J\ AW & 587 i 11282544+ 9, 300 9, 300 0.0
AT () 9 — 4 IRIENTE 2 45753 1 4 8, 850 8, 850 0.0
T () 9 —5 W ERT #5837 16 15, 200 15, 500 2.0
AT () 9—6 FROE BT 55 12627 1 46 36, 800 36, 800 0.0
EEOE) —1 T T T 23 11 49, 900 48,700 | A 2.4
EHO) —2 ENINT6367532 28, 100 27, 500 A 21
HEHO) —3 FRITT019%14 34, 100 33, 200 A 2.6
EHO) —4 HJIMT4105% 1 48, 700 47, 500 A 2.5
EHO) —5 JEATRT A 4223 23, 600 23, 100 A 2.1
EHOR) —6 —REET = [B754% 3 15, 800 15,400 | A 2.5
EHR) —7 LT £ 45 56875 56 14, 100 14,000 | A 0.7
Tl R —8 YT 4 28 9, 700 9,650 | A 0.5
EHO) —9 BT 4 138473 1 8, 600 8,550 | A 0.6
EH (R —10 —REET = (51417510 22, 200 21,800 | A 1.8
HH ) —11 JERTARH219% 9 4,500 4, 450 Al
HHO) —12 PR M R L ARE55% 3 3, 200 3,150 | A 1.6
Em (R —13 PRI RT ARHERE A 5897 9 3, 200 3, 150 A 1.6
HEHO) 5 -1 BNT84% 3 67, 200 66, 000 A 1.8
TR 5—2 7] H BT 3834+ 48, 200 47, 200 A2 1
el () 5—3 SIRIT L4541 97475 1 13, 000 12, 800 A 15
() 5—4 BT 4 116057 7 9, 300 9, 200 Al
FH(R) 5—5 ZBEET Z81311% 1 4+ 30, 600 30, 000 A 20
HHR) 9—1 TRFRT327%100 14, 100 14, 100 0.0
RO 9—2 JEUHHET3050% 364+ 13, 500 13, 400 A 0.7
HEMB) —1 HET A Tl FEE 3 % 7 4+ 41, 300 41, 300 0.0
HEMB) —2 WIRHEFEIT6 T H6TE 42, 000 42, 500 1.2




HEWR) —3 Fagr FHTEHEIH 953 4 31, 800 31, 800 0.
HEWR) —4 hIFET701230 36, 100 36, 100 0.
HEM) —5 %jfﬁjm 2 TH10% 3 TEKrAT 2 — 36, 400 36, 400 0.
HEW) —6 REEMT 5P 4255825 18 30, 500 30, 500 0.
HEG —7 AT 22237 3 23, 000 23, 000 0.
HEG) —8 A THITAEART 4 T H 3 %15 43, 600 44, 000 0.
HEG) —9 HAEMT891% 6 25, 900 25, 900 0.
HEWR) —10 FHITFRA2785% 5 28, 900 28,800 | A 0
HEG) —11 HARET 54/ 18827 5 18, 700 18, 800 0.
HEG) —12 PEHET1707% 32, 400 32,100 | A 0.
HEG) —13 - H HT A 55 13 25, 100 25,000 | A 0.
HEG) —14 oy — ) G1407% 2 25, 700 25,600 | A 0.
HEWG) —15 e M ZE 2 AE F 7419 4 4% 4, 550 4,500 | A 1.
HEG) —16 e T — 7 -HE 21253 1 4% 3,150 3,100 | A1
HMEG) —17 RATRTHFEE P 745 T 2433 % 21, 500 21,300 | A 0.
HEG) —18 2 HT 1 88497204+ 7,800 7,700 | A L
HEG) —19 2T AA 13528 4 8, 150 8,100 | A 0.
HEG) —20 AL M /NE 150917 8, 250 8,200 | A 0.
HEM) —21 IR =E1127172%13 16, 800 16, 800 0.
HEG) —22 BIREIT — 5817297 1 8, 750 8, 750 0.
HE(F) —23 KA T B 005 P8 IR 400 7 18, 500 18, 600 0.
HE(R) —24 KA RT FFEE R B3 111125978 11 26, 000 26, 000 0.
HEG) —25 ) I[HTER 39137 27,000 27, 500 1.
HE ) —26 MY R E#11730%% 2 23, 800 24, 800 4.
HER) —27 2B )| H] 11555363 26, 000 26, 800 3.
HEM) 5—1 ERFEET2 TH 1% 1 68, 100 68, 400 0.
HER) 5 —2 JERENT 10557 1 75,700 76, 000 0.
HEM) 5 -3 ié‘%{_ﬁﬁ?ﬁ 3 T A0S it 3 — 43, 700 43, 700 0.
HER) 5 —4 BT 1122483 2 4F 32, 800 32, 600 A0
HEJWP)5-5 1 FH T S35 AL 158675 34 7,700 7,600 | A 1.




HE(R) 5 —6 S5 M 25876221 14, 000 13,800 | A 1
HEWM) 5 -7 AFEE TSR 1213% 2 28, 900 28, 900 0.
HEWG)5—8 RAEMTFFEE R FRER 1113642 114+ 59, 500 62, 500 5.
HEWR) 5—9 £ I[N ELT4831% 2 31, 900 32, 000 0.
HEW) 510 L)1 [HTHE[ 38497 29, 300 29, 400 0.
HEE(R) 5 —11 Kitgig 2 THA%E 34 45, 500 45, 700 0.
HEGD) 9—1 FiERT516% 9 4+ 7,900 8, 300 5.
HER) 9 —2 WSy — 2 B1477E5 14 13, 700 13, 600 A0
HER) 9—3 Z AR M O 9087 1 6, 900 6,800 | A 1
HEM) 9—4 FHSFENT 5% 14+ 17, 200 17, 200 0.
HEWM) 9 -5 JIMTHER3167% 8 4+ 9, 550 9, 550 0.
WHOR) —1 WHIT . HEWT A 333% 5 32,700 31,300 | A 4.
WHOR) —2 MY 7628726 [ HHT35—25] 23, 800 22,900 | A 3.
WH ) —3 ﬁjﬂ% 1T HA 10093 Tl —28— 27, 200 26,100 | A 4.
i () —4 TAGRETT05%22 22, 400 21, 600 A 3.
WHOR) —5 JHFHT A 683780 75 MH54—10] 22, 300 21,500 | A 3.
wH(R) —6 HEHIT517% 144 24, 900 24, 100 A 3
wHOR) —7 FEHBMT LA A 218% 2 5, 600 5,500 | A 1.
wH R —8 FEHMTALES89% 1 5, 600 5,500 | A 1.
wHEOR) —9 FHIT )1 126887 4 3, 850 3,800 | A 1.
(%) —10 VE ATV A 4027 1 4+ 1, 680 1,640 | A 2.
W) —11 VESRLHETIE) A 267 1, 480 1,460 | A 1.
() 5 —1 BT IFE D HHT15%26 49, 200 47,700 A3
A () 5 — 2 FEHBHTHR 218007 4 7, 850 7,600 | A 3
feH (%) 5 —3 Pt L HETPL f A 1268% 6 5,100 5,000 A2
#H L) 5 —4 HTHTA618% 1 [ZHFHT42—12] 32, 000 31, 300 A2
wH ) 9—1 §%7TE“128$133 MR — 12— 20, 900 20,200 | A 3
KEE) —1 K HE TR I RHA 276 3 27,700 27, 100 A2
KEE) —2 RKHEWTKE=818% 4 18, 200 17,700 A2
K —3 K MR ~282% 20, 700 20,200 | A 2




KA —4 RARTR/A 1333518 22, 900 22, 900

KEUR) —5 KB R 11123 7 4% 25, 400 25, 200 A
KHER) —6 KHEBTRH = 328% 4 18, 300 17,600 | A
KEWR) —7 TR TN A 413511 16, 400 16,000 | A
KR —8 {JEERT— 71508 % 14, 500 14,400 | A
KHEWR) —9 {JEMT 5 15 1736 %20 7,900 7,700 | A
KHE R 5—1 K FH BT K 7 9407 8 4 31, 300 30, 300 A
K (R 5—2 {BEWTI= 754313540 16, 700 16,200 | A
KH () 5—3 FAMT R/ A 5483 3 31, 200 30,800 | A
KHE () 9—1 R IEHT R84 133 15 5,000 5, 100

k() —1 LR TR T 48 R 1748% 1 24,100 23,500 | A
k() —2 BT 171730 21, 600 21,200 | A
k() —3 TERHT L1873 16, 300 15,900 | A
k() —4 FEHTET I Y 3327 19, 200 18,800 | A
k() —5 R AHT H: [ 957 7,000 6,800 | A
k() —6 JRVERT IR 5627 3 15, 000 14,600 | A
k(R —7 JRMERT AR 16672 5 7,500 7,300 | A
2k (B)  —8 RRHT %2 12502 9 12, 600 12,400 | A
2R (R —9 HEEIT )1 71549138 7 15, 800 15,500 | A
2ok (B)  —10 Ve PR BT 738 547513 17, 600 17,300 | A
2R () 5 —1 LM TN 182 174 32, 800 31,800 | A
2R () 9—1 BTy EHT1143513 14, 800 15, 000

CHER) —1 TLHETTAR N T 1218 15, 800 15,300 | A
LHE(R) —2 BATRT AR EAR19713 7 9, 700 9,500 | A
LHE(R) —3 W 1-HT A 1255745 15, 100 14,700 | A
LHE(R) —4 FRGENT A 1322718 21, 000 20,300 | A
THE(R)  —5 B BFEERT2332% 2 23, 500 22,600 | A
ILHE(R) —6 HFINT353720 14, 000 13,800 | A
LHER) —7 BATHT)IF14% 1 44 12, 300 12,100 | A
LHE(R) 5—1 B/ ENT2306%24 42, 700 42,000 | A




HE(R) 9—1 HREFHEMT2307 % 194+ 8, 200 8, 200
EMU) —1 LR TH R RHT K 10907 6 18, 800 18, 800
Ep () —2 BE BT ARI2797 6 4, 250 4,150 | A
EMU) -3 RATHT AT 387 7, 400 7, 400
EMUL) —4 JERTANE 10113 1 20, 300 20, 400
EMUL) -5 JNEHT A 1407 3 12, 900 12, 900
EHUE) —6 O NTHMA 527519 6, 400 6,250 | A
Ep () —7 ARURET T Hi4417% 20, 000 19,900 | A
EMUL) -8 ARYETVE H 2164711 12, 400 12,300 | A
EMUD -9 ARUKHT FREA 12107 1 28, 900 28, 900
EMUH  —10 = JIRITHE T 8587 5 4t 14, 000 14, 000
EMUH -1 EEETEE 21907 1 9, 300 9,100 | A
EMUL) —12 = J)RHIT =] E956% 3 17, 400 17,300 | A
EUR) —13 = JJRRT = J) R 1230758 22, 000 22, 000
EMUL —14 & T 27049 7 6, 200 6,050 | A
EMUR) —15 & TR RIS 0% 2,700 2,700
EMU 5 -1 AR A Y4687 6 25, 900 25, 900
ER () 5—2 =JIRRT =) E36% 2 4k 37, 000 37, 000
EM () 5-3 HEHTH 521507566 10, 300 10,000 | A
EMUD 9—1 ARYHTHL 510932 1044+ 17, 200 16,900 | A
BHEG) — 1 [(CZARRIEN FH{H345% 1 10, 500 10,300 | A
HHE(R) —2 | =Zk710%4 16, 600 16,400 | A
RHZEGR) —3  |AS1556% 7,900 7,800 | A
RHZEGR) —4  |BiH684%E 14+ 14, 000 13,900 | A
BIHEUR) —5 | LRTH4T8%E 7 8, 500 8,400 | A
BIHZEG) 5 -1 | = k2603 2 21, 600 21,300 | A
BIEGR) 5—2  BH1043% 2 4+ 22, 400 22,200 | A
i () —1 A AR BT 5 160872 2 8, 800 8,600 | A
i () —2 2201720 8, 200 8,000 | A
g () — 3 TEIRI9F: 3, 250 3,230 | A




g (B)  —4 BFE1008% 1 4, 800 4,700 | A
g (B)  —5 R4 1243 3 6, 450 6,300 | A
e (B)  —6 THR41344% 3 3, 600 3,580 | A
i () 5 — 1 MHJF2079% 7 12,700 12,300 | A
g () 5 — 2 R4 16607 2 10, 000 9,700 | A
A —1 BB AT KR5) 141657 4 B 7,500

NAW) —2 RF)NAA27515 13,100 12,900 | A
AR —3 KFRF351% 3 4+ 7, 350 7,300 | A
FMOR) —1 LRI 657 1 5, 600 5,400 | A
FMIR) —2 27T 9, 000 8,900 | A
FIR) —3 HATA9 1 2, 830 2,760 | A
FIR) —4 HEAKEI9TE 1 5+ 3, 850 3,730 | A
FIR) 5 -1 FAPAILTTH 10 13, 300 13,200 | A
R —1 T R AR 1473 3 3,800 3,750 | A
Br(R) —2 FBF2413% 1 5,000 5, 000

ErUR) —3 5 54037 1 3, 550 3,550

Br(R) —4 TiAR19447% 3, 800 3, 800

Er(R) —5 T HFT258% 8 4, 850 4, 850

Er(R) —6 % 13817716 5, 300 5, 350

BRI —7 H E3220% 2 3, 250 3,200 | A
B 5—1 T B554% 3 4, 650 4, 650

Er () 5 —2 Hi48% 2 5, 450 5, 450

Erg () 5 — 3 K 42%4 6, 750 6, 750

g (R) 9 —1 T HFT93% 1 3, 850 3,800 | A
FEAEF () — 1 | ERARHFIEF RIS 8 N 1 14, 400 14,100 | A
g () — 2 [hERs2E 22, 000 21,000 | A
HEFnEy () — 3 |[#2Hr507% 25, 000 23,800 | A
R () — 4 | BLloT4%AT 14, 300 14,100 | A
HE (B —5 | HHT90% 1 11, 300 11,100 | A
HFEF (W) —6 | /E§85990% 2 3, 700 3,600 | A




P (R) 5 —1 | HAa77ES 26, 700 25, 400 A
FERNE () 5 —2 | HIF226% 1 17,900 17,400 | A
HE) —1 & E AT AB67H 6 8, 800 8,700 | A
HER) —2 MiA223% 2 6, 000 5,900 | A
HER) —3 NHHi872% 12, 000 11,800 | A
HER) —4 £ A 6263 7,700 7,500 | A
HHEMR) —5 TIR[N299% 5 8, 000 7,900 | A
HHUYD S5 -1 N H i785% 4k 15, 200 14,800 | A
WO —1 BeRlet R I HT RS 111237 1 46 8, 700 8, 700

) —2 KFURF16715 4, 300 4, 300

(k) —3 RFPFZHE204% 4 5,000 5, 000

Mt () 5—1 RFAEH6 7 16, 400 16,100 | A
R — 1 [ BRTRTEBTH  IHT478% 1 13, 600 13,500 | A
R0 —2 | RFEEMTRER299E 1 12, 100 11,800 | A
W) — 3 | KRFERIFTH66%E 1 15, 200 15,000 | A
P E(R) 5 —1 | RFHESTAL A/ NE351% 1 25, 500 24,500 | A
R OR) —1 BIFAT TR Y 122743 3, 900 3,900

AR (R 5—1 TER1014% 2 7, 800 7,800

BRI o> Jg (W) — 1 B2k o> 5Tt FH L (= RiT55 2% 1 14, 000 13,900 | A
BRIG O (J)  — 2 [IyEsT 2573 2 5,770 5,740 | A
Bz oD &5 (BY)  — 3 | SKMT1107% 21, 600 21,500 | A
PR D (J)  — 4 [ Fifili FJR213% 2 8, 750 8,500 | A
FR o () — 5 [#B7 BNIE2348% 7 4+ 10, 300 10,100 | A
Bz & (W) — 6 |47 K H306% 1 8, 500 8,400 | A
Bz oD &5 (W) 5 — 1 |[HETH &/ U287 1 39, 800 38,800 | A




